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» java.net.InetAddress £
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public class InetAddressTest{
public static void main(String[] args)throws Exception {

/148 4% £ #.% % # Hat & ¢9InetAddress 5 #
InetAddress ip = InetAddress.getByName("www.oneedu.cn");
I1# & R 5T &
System.out.printin("oneedu#® % T £ : " + ip.isReachable(2000));
// 3 3 4% InetAddress & #] 9 IP % #%
System.out.println(ip.getHostAddress());
/148 48 & 45 P4 3k & 3 7R 2t & ¢ InetAddress 52 4]
InetAddress local = InetAddress.getByAddress(new byte[]
{127,0,0,1});
System.out.printlin("A4u £ % T £ : " + local.isReachable(5000));
/1 3 7<% InetAddress 2 #] 2t & ¢ 41k £ 1%,.%
System.out.println(local.getCanonicalHostName());
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Server

ServerSocket(port #)

Socket socket =
ServerSocket.accept()
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Close Socket

Client

Socket(host, port #)
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» javas ®java.net ¥ 2 # 7 & 4~ £SocketFeServerSocket, 2% A £ & T K
EHBGBEFmFBSin. ERANHEREFTHOGAL, £ A BT A

» Socket client = new Socket("127.0.0.1", 80);

» ServerSocket server = new ServerSocket(80);
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try{
Socket socket=new Socket("127.0.0.1", 5000);
/7127.0.0.1 2 TCP/IP 4L P 2K 1A 69 A AU #b 4k
Jcatch(IOException e){

System.out.println("Error:"+e);
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» A ¢4 4| & ServersiServerSocket ¢ it 42 .

ServerSocket server=null;

—_—
.

2. try {

3. server=new ServerSocket(5000);

4. /1 4| # — AServerSocket /4 5% @ 5000 % <f & & +4 £

5. }catch(IOException e){}

6. Socket socket=null;

7. try {

8. socket=server.accept();

9. /laccept()R—/MNra R @ F ik, —2H £ r#H K, ©#koS&a—/NSocketst

AT R ZA#ITRE. BS0ocketst $ 4 2 T £ 754 GIP/kik K% @ 5.
10. }catch(IOException e){}}
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» PrintWriter out=new PrintWriter(socket.getOutputStream(),true);

» BufferedReader in=new ButfferedReader(new
InputSteramReader(Socket.getlnputStream()));
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» H—ASocketh 4 at, ##EA—z ek, mSocketst %4 A % 44t
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os.close();
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import java.io.”;
import java.net.”;
public class EchoServer {
private int port=5000;
private ServerSocket serverSocket;

public EchoServer() throws IOException {
serverSocket = new ServerSocket(port);
System.out.println("fk 4- £ & #");

}
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public String echo(String msg) {
return "echo:” + msg;

/] % #§serverSocket ¢ # & %,

rivate PrintWriter getWriter(Socket socket)throws
|OExcept IOH?

OutputStream socketOut = socket.getOutputStream();
return new PrintWriter(socketOut,true);

1

2.
3.}
4

5

/] # #§serverSocket ¢ #- i,

0. cg)rwate BufferedReader getReader(Socket socket)throws
|OException

11. InputStream socketln = socket.getInputStream();

12. rn ne ffered eader(new
puttgjtream ea er(soc etln%;(

6

7.

8. )
9

1
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public void service() { Socket socket=null;

while (true) {

try {
socket = serverSocket.accept(); // ¥ # 8P~ & 4

System.out.printin("New connection accepted ”
+socket.getlnetAddress() + “:" socket.getPort());

BufferedReader br =getReader(socket);// & 7 5%
6 S 15 A

PrintWriter pw = getWriter(socket);// 1% #| #- & #¢
String msg = null;
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1. while ((msg = br.readLine()) != null) {

2. System.out.println(msg);

3. pw.println(echo(msg));// @ & ~ % % & «a & 13 4.
4

1f msg.e uals("bye”)) //4 F 2 P L E G H B A
“bye” éiiﬂ" ye’)) %60

5 break, }

6 }catch (IOException e) {}
7. finally { try{
8
9

if(socket!=null)socket.close(); // # 7 & 4
. Jcatch (IOException e) { }
10. Pord

11. public static void main(String args[])throws IOExce
/] B & FR %

12. new EchoServer().service();

13.  }
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1 import java.util.”;

2. public class EchoClient {

3 private String host="localhost";
4 private int port=5000;

5. private Socket socket;
6

7

8

9

public EchoClient()throws IOException{
socket=new Socket(host,port);
}
10.  public static void main(String args[])throws IOException
11, new EchoClient().talk();
12.  }
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private PrintWriter getWriter(Socket socket)throws
|OException{

OutputStream socketOut = socket.getOutputStream();
return new PrintWriter(socketOut,true);

}

private BufferedReader getReader(Socket socket)throws
|OException{

InputStream socketIn = socket.getInputStream();

return new BufferedReader(new
InputStreamReader(socketln));

}
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1. public void talk()throws IOException {

2 try{

3. BufferedReader br=getReader(socket);

4 PrintWriter pw=getWriter(socket);

5 BufferedReader localReader=new BufferedReader(ne

InputStreamReader(System.in));

6. String msg=null;

7. while((msg=localReader.readLine())!=null){

8. pw.println(msg);
System.out.println(br.readLine());

9. if(msg.equals("bye"))

10. break;

11, }  }catch(IOException e){

12. Hinally{
13. try{socket.close();}catch(IOException e){ }



C:\Documents and SettingsMdministrator>java EchoServer
LlEReEd =

New connection accepted /127.0.0.1:7296

thello?

How are you?

Microsoft Windows XP [| ~ 5.1.26001
FAE 1985-2001 Microsoft Corp.

C:\Documents and Settings\dministrator>java EchoClient
hello?

echo:hello?

How are you?

echo:How are you?
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SelectableChannel: X R AT I Z#FIEFAEIORERChannelxts, ATLLIGHEE
ZlSelector. |, XH;EMEY < Z HSelectionKeysLff|FK R, Selector. 34 &2 T —
4select() ik, iZzAEATNARFEERSZELZNO_Channel,

SelectionKey: iz & (X EKSelectableChannelfaSelectorz gl g E M < % -
ServerSocketChannel: 3R ZE R {E, X FServerSocketix s, IB{ETTCP
thidloiEO, A #HOP_ACCEPT:#g{E. izZktiRt Taccept() ik, ThaeEYT
ServerSocketig{tpgaccept() HFik-

SocketChannel: Z#IEfEE#R(E, I FSocketX M2, RALITCPHMUIOREO,
% #%OP_CONNECT,OPREADFIOPWRITEIR{E. X4 #3FS2H T ByteChanneliz
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» Z&5) hitps://www.linuxidc.com/Linux/201 4-
11/109779.htm
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» UDP - &=%KUser Datagram Protocol( AP ZEHRHIX) - Elinternet THiXESZHF—
DNEEZFNEEIIN - UDP AN ARERRM F — B2 INEEM I DIAZET R
B 1P BIEEIR % -
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» DatagramSocket():. 1|z —4DatagramSocketsE il 3 1% 1% Xt 5 45 & 2| A~ F1 2%
APHudE . AT E A Aum O P REALEFERE N im0,

» DatagramSocket(intport):, €1iE —4DatagramSocketsL 5|, FiFiz3t5E45E
Z|ARHBIAPHEYE . FEEIw O -

» DatagramSocket(intport.InetAddressladdr): £l & —4-DatagramSocket 3k
B, FEizxIRHEEFEEIPHIE. FEEWO.
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» SCHI, https://www.jb51.net/article/45092.htm




